T3 EE

L & R X im fn fiT

THSEE LESER1SREEEETIS

RER

it EEER

B BEE | AR

Farad

RE B’E

Far ey

TEXRERETE

(H%D)

T HA A ~SF4E3IA3H
IEES
T = B E
ITEER 140 m
EETL 3, 800 m?
EILZILRSTT 3, 050 m2
BIKEEEILS LIRS T 750 m2
fEEI T —=
RE&RT —=




=i TN = RIS HO0 -0001
TEHEEERTER
BB - THEEMRY R - B2 BT ¥E E5
AT

1B KRAEHRE L~
A 1

E¥+T L2
A 1

EIT L_L3
A 1

#EHl [£m, +7" viy), 4] L4
m3 70

T rhaEER L4
m3 70

BIE0S L4
A 1

EET 9289, %
A 1

AR T L3
A 1

BA - AT [BA (10~504/100m2) ] L4
m2 3, 800

EFEA S L4
m2 3, 800

ALK E b L4
m2 3, 800

AL =4 L4
m3 50

EHEWRA T L~L3
A 1

EVH VIREAT [WRAE5cm] L4
m2 3, 050

F)UZ URAE [ ESELZ V] L4
m2 750

RER T L2
A 1

Bhgfitiak T L~L3
A 1

IR B E R At



1.

.1|||T[

S ERRTETR

HO0 -0002

A - THEEAMZRL

PR - HiH%2

BT

&

B

A

L3

R R R

A

88

L4

* k EHETEE % %

ZeE

ek

L2

ek

L3

Bl

[2tE]
[ (tE#HH J)-7-3X LEDR) ]

o (S B

44

L4

ST S e

* ok B IRERE R * %

* % Ml TIE % %

B E R

% sk TEJf % %

—REEE Ry

SO RAEE

— B R R

* % TEAfii#& * *

* k IHEBIAE L8 * %

% sk TEHEF % %

JE B B A



Lg%i}ﬁ%%ﬁjﬁﬁﬁ E0 -0003
#H - TREBMERE Bkl - Bitk2 A & EZ

% x FLRORAEE B * %

JE B B A



